# On the Exponential Stability of a Nonlinear State-Dependent Delay System

István Győri and Ferenc Hartung Department of Mathematics and Computing University of Pannonia H-8201 Veszprém, P.O.Box 158, Hungary gyori@almos.vein.hu and hartung.ferenc@uni-pannon.hu

Dedicated to Professor V. Lakshmikantham on the occasion of his 85th birthday.

#### Abstract

In this paper we study exponential stability of solutions of a class of nonlinear differential equations including differential equations with state-dependent delays by means of linearization.

#### **AMS(MOS) subject classification:** 34K20 **Keywords:** State-dependent delay; Exponential stability; Linearized stability

## 1 Introduction

In this paper we consider the nonlinear functional differential equations of the form

$$\dot{x}(t) = f(t, x_t), \qquad t \ge t_0,$$
(1.1)

where r > 0 is fixed, and the solution segment function  $x_t : [-r, 0] \to \mathbb{R}^n$  is defined by  $x_t(s) = x(t+s)$ . We assume that x = 0 is an equilibrium of the equation. This general class of equations includes differential equations with state-dependent delays (SD-DDEs), e.g., equations of the form

$$\dot{x}(t) = h(t, x(t), x(t - \tau(t, x_t))), \qquad t \ge t_0, \tag{1.2}$$

or more general classes of SD-DDEs. We refer to [11] for a survey on basic theory and applications of SD-DDEs.

One of the most frequently used qualitative technique in applications is the linearized stability principle. It has been formulated in many papers for different classes of SD-DDEs

This research was partially supported by Hungarian National Foundation for Scientific Research Grant No. K 73274.

([1], [3], [4], [7], [8], [9], [10], [12]). The main technical difficulty to prove a linearized stability theorem in SD-DDEs is that the map  $C \ni \psi \mapsto h(t, \psi(0), \psi(-\tau(t, \psi))) \in \mathbb{R}^n$  is not Fréchet-differentiable. See [11, 13] for more details and discussions on this topic.

In this paper we formulate a new sufficient condition for exponential stability for a large class of nonlinear functional differential equations assuming exponential stability of an associated a linear delay equation. The idea of the proof uses the fact that the solution of (1.1) is continuously differentiable for  $t > t_0 + r$  under mild assumptions and a careful useage of the variation-of-constants formula. These tricks make the proof much simpler than the proofs of the existing linearization results for SD-DDEs.

In Section 2 we formulate our main result (see Theorem 2.3 below), and on a simplified version of (1.2) we demonstrate how easy to apply our linearization method. We present the technique to obtain exponential stability of the trivial solution, and also exponential stability of an arbitrary (e.g., periodic) solution of the equation. Note that a linearized stability theorem for periodic SD-DDEs was given in [7], but only for the case when the examined solution is continuously differentiable. In our theorem here we do not need this strong assumption. Section 3 contains the proofs of our general linearized stability theorem.

Note that a necessary and sufficient condition was formulated in [5] using a linearization method for a special class of (1.2). It is an interesting open question whether the statement in Theorem 2.3 can be reversed, possibly under more rectrictive conditions.

#### 2 Main Results

Throughout this paper a fixed norm on  $\mathbb{R}^n$  and its induced matrix norm on  $\mathbb{R}^{n \times n}$  is denoted by  $|\cdot|$ . The Banach space of continuous functions  $\psi \colon [-r, 0] \to \mathbb{R}^n$  equipped with the norm  $\|\psi\| = \sup\{|\psi(s)| \colon s \in [-r, 0]\}$  is denoted by C. The ball in C centered at 0 with radious  $\rho$  is denoted by  $\mathcal{B}_C(\rho)$ . The Banach space of bounded linear operators mapping C to  $\mathbb{R}^n$  is denoted by  $\mathcal{L}(C, \mathbb{R}^n)$ .

Consider the delay system

$$\dot{x}(t) = f(t, x_t), \qquad t \ge t_0.$$
 (2.1)

and the corresponding initial condition

$$x_{t_0} = \varphi, \qquad \varphi \in C, \tag{2.2}$$

where  $t_0 \in \mathbb{R}$  is fixed.

We assume

(H1)  $f: [t_0, \infty) \times C \to \mathbb{R}^n$  is continuous, and there exist  $\delta_1 = \delta_1(t_0) > 0$  and  $M_1 = M_1(t_0) > 0$  such that

$$|f(t,\varphi)| \le M_1 ||\varphi||, \qquad \varphi \in \mathcal{B}_C(\delta_1), \quad t \ge t_0.$$

- (H2) There exists a mapping  $L: [t_0, \infty) \to \mathcal{L}(C, \mathbb{R}^n)$  satisfying
  - (i) the linear operator L(t) is uniformly bounded in time, i.e.,  $|L(t)\psi| \leq M_2 ||\psi||$  for any  $t \geq t_0$  and  $\psi \in C$ , where  $M_2 = M_2(t_0) \geq 0$  is independent of  $\psi$  and t;

(ii) there are two continuous and monotone nondecreasing functions  $\omega_1, \omega_2 \colon [0, \delta_1) \to [0, \infty)$  for which  $\omega_1(0) = \omega_2(0) = 0$ , and

$$|f(t,\psi) - L(t)\psi| \le ||\psi||\omega_1(||\psi||) + ||\psi||\omega_2(||\psi||)$$

for  $t \ge t_0 + r$  and  $\psi \in C^1 \cap \mathcal{B}_C(\delta_1)$ .

Note that (H1) yields the existence, but not the uniqueness of the solutions of the IVP (2.1)-(2.2) (see, e.g., [2], [9], [11]). Any fixed solution of (2.1)-(2.2) will be denoted by  $x(t; t_0, \varphi)$ .

We consider the time-dependent linear equation

$$\dot{y}(t) = L(t)y_t, \qquad t \ge t_0.$$
 (2.3)

The solution of (2.3) corresponding to initial condition (2.2) is denoted by  $y(t; t_0, \varphi)$ .

**Definition 2.1** We say that the trivial (zero) solution of the equation (2.1) is exponentially stable on  $[t_0, \infty)$ , if there exist constants  $\delta = \delta(t_0) > 0$ ,  $K_1 = K_1(t_0) \ge 1$  and  $\alpha_1 = \alpha_1(t_0) > 0$  such that for any  $t_0 \ge 0$ 

$$|x(t;t_0,\varphi)| \le K_1 e^{-\alpha_1(t-t_0)} \|\varphi\|, \qquad t \ge t_0, \quad \varphi \in \mathcal{B}_C(\delta).$$

$$(2.4)$$

**Definition 2.2** We say that the trivial (zero) solution of the linear equation (2.3) is uniformly exponentially stable on  $[t_0, \infty)$ , if there exist constants  $K_2 = K_2(t_0) \ge 1$  and  $\alpha_2 = \alpha_2(t_0) > 0$  such that for any  $s \ge t_0$ 

$$|y(t;s,\varphi)| \le K_2 e^{-\alpha_2(t-s)} \|\varphi\|, \qquad t \ge s, \quad \varphi \in C.$$

$$(2.5)$$

Now we can formulate the main result of this paper.

**Theorem 2.3** Assume (H1) and (H2), moreover, the zero solution of (2.3) is uniformly exponentially stable on  $[t_0, \infty)$ . Then the zero solution of (2.1) is exponentially stable on  $[t_0, \infty)$ , as well.

Next consider the scalar equation with state-dependent delay

$$\dot{x}(t) = a(t)g(x(t - \tau(t, x_t))), \quad t \ge t_0.$$
(2.6)

On this simple nonlinear equation we show the applicability of our main theorem. We assume

(A1)  $a: [t_0, \infty) \to \mathbb{R}$  is continuous and there exists  $a_0$  such that  $|a(t)| \leq a_0$  for  $t \geq t_0$ ;

- (A2)  $g: (-\sigma, \sigma) \to \mathbb{R}$  is continuously differentiable, g(0) = 0;
- (A3)  $\tau : [0, \infty) \times C \to [0, r]$  is continuous, and there exists a continuous and monotone nonincreasing function  $\omega_{\tau} : (-\sigma, \sigma) \to [0, \infty)$  such that  $|\tau(t, \psi) - \tau(t, \mathbf{0})| \leq \omega_{\tau}(||\psi||)$  for  $\psi \in \mathcal{B}_C(\sigma), t \geq t_0$ .

Now (A1) and (A2) yield (H1) with  $f(t, \psi) = a(t)g(\psi(-\tau(t, \psi)))$ . Consider the timedependent linear operator defined by

$$L(t)\psi = a(t)g'(0)\psi(-\tau(t, \mathbf{0})), \qquad (2.7)$$

where **0** is the constant 0 function in C. Then (A1) and (A2) imply (H2) (i). To show (H2) (ii), let  $\psi \in C^1 \cap \mathcal{B}_C(\sigma)$ . Simple estimates, assumption (A3) and the Mean Value Theorem yield

$$\begin{aligned} |f(t,\psi) - L(t)\psi| &= |a(t)g(\psi(-\tau(t,\psi))) - a(t)g'(0)\psi(-\tau(t,\mathbf{0}))| \\ &\leq |a(t)||g(\psi(-\tau(t,\psi))) - g'(0)\psi(-\tau(t,\psi))| \\ &+ |a(t)||g'(0)||\psi(-\tau(t,\psi)) - \psi(-\tau(t,\mathbf{0}))| \\ &\leq a_0|\psi(-\tau(t,\psi))|\omega_g(|\psi(-\tau(t,\psi))|) + a_0|g'(0)|||\dot{\psi}||\tau(t,\psi) - \tau(t,\mathbf{0})| \\ &\leq a_0||\psi||\omega_g(||\psi||) + a_0|g'(0)|||\dot{\psi}||\omega_\tau(||\psi||), \end{aligned}$$

where

$$\omega_g(u) = \begin{cases} \sup_{|s| \le u} \frac{|g(s) - g'(0)s|}{|s|}, & u > 0, \\ 0, & u = 0. \end{cases}$$

All conditions of Theorem 2.3 are satisfied, therefore we get immediately the next result.

**Theorem 2.4** Assume (A1)–(A3), moreover, the trivial solution of

$$\dot{y}(t) = a(t)g'(0)y(t - \tau(t, \mathbf{0})), \qquad t \ge t_0$$

is uniformly exponentially stable on  $[t_0, \infty)$ . Then the trivial solution of (2.6) is exponentially stable, as well.

Now suppose  $\bar{x}: [t_0 - r, \infty) \to \mathbb{R}$  is a fixed solution of (2.6). Next we study the exponential stability of this solution. Consider the new variable  $z(t) = x(t) - \bar{x}(t)$ . It satisfies

$$\dot{z}(t) = a(t)g\Big(z(t-\tau(t,z_t+\bar{x}_t)) + \bar{x}(t-\tau(t,z_t+\bar{x}_t))\Big) - a(t)g(\bar{x}(t-\tau(t,\bar{x}_t)))$$
(2.8)

In order to show the exponential stability of solution  $\bar{x}$  of (2.6), we apply our Theorem 2.3 to show that the trivial solution of (2.8) is exponentially stable. Let

$$f(t,\psi) = a(t) \Big[ g\Big(\psi(-\tau(t,\psi+\bar{x}_t)) + \bar{x}(t-\tau(t,\psi+\bar{x}_t))\Big) - g(\bar{x}(t-\tau(t,\bar{x}_t))) \Big],$$

and we define the time-dependent linear operator

$$L(t)\psi = a(t)g'(\bar{x}(t - \tau(t, \bar{x}_t)))\psi(-\tau(t, \bar{x}_t)), \qquad t \ge t_0, \quad \psi \in C.$$
(2.9)

We assume  $\bar{x}: [t_0 - r, \infty) \to \mathbb{R}$  is a bounded solution of (2.6), i.e., there exists  $b_0 \ge 0$  such that  $|\bar{x}(t)| \le b_0$  for  $t \ge t_0 - r$ . We need stronger versions of (A2) and (A3):

- (A2')  $g: (-\sigma, \sigma) \to \mathbb{R}$  is twice continuously differentiable, where  $b_0 < \sigma$ , and g(0) = 0;
- (A3')  $\tau : [t_0, \infty) \times C \to [0, r]$  is continuous, and also Lipschitz-continuous in its second variable, i.e., there exists  $N_1 > 0$  such that  $|\tau(t, \psi) - \tau(t, \tilde{\psi})| \leq N_1 ||\psi - \tilde{\psi}||$  for  $\psi, \tilde{\psi} \in \mathcal{B}_C(\sigma)$ ,  $t \geq t_0$ .

Let  $b_1$  be such that  $b_0 < b_1 < \sigma$ , and define  $N_2 = \max\{|g'(u)| : u \in [-b_1, b_1]\}$  and  $N_3 = \max\{|g''(u)| : u \in [-b_1, b_1]\}$ . Then

$$|g(u) - g(s)| \le N_2 |u - s|$$
 and  $|g(u) - g(s) - g'(s)(u - s)| \le N_3 (u - s)^2$ 

for  $u, s \in [-b_1, b_1]$ . Let  $\varepsilon = b_1 - b_0$ . It follows from (2.6)

$$|\dot{x}(t)| = |a(t)||g(\bar{x}(t - \tau(t, \bar{x}_t))) - g(0)| \le a_0 N_2 |\bar{x}(t - \tau(t, \bar{x}_t))| \le a_0 N_2 b_0, \qquad t \ge t_0,$$

therefore

$$|\bar{x}(u) - \bar{x}(s)| \le N_4 |u - s|, \qquad u, s \ge t_0,$$

where  $N_4 = a_0 N_2 b_0$ .

Now we can show that (H1) and (H2) are satisfied for this example. (H1) follows from the estimates

$$|f(t,\psi)| \leq a_0 N_2 |\psi(-\tau(t,\psi+\bar{x}_t)) + \bar{x}(t-\tau(t,\psi+\bar{x}_t)) - \bar{x}(t-\tau(t,\bar{x}_t))| \\ \leq a_0 N_2 (1+N_1 N_4) ||\psi||, \quad t \geq t_0, \quad \psi \in \mathcal{B}_C(\varepsilon) .$$

(H2) (i) can be shown easily. To prove (H2) (ii) consider

$$\begin{aligned} |f(t,\psi) - L(t)\psi| &\leq |a(t)| \left| g \Big( \psi(-\tau(t,\psi+\bar{x}_t)) + \bar{x}(t-\tau(t,\psi+\bar{x}_t)) \Big) - g \Big( \bar{x}(t-\tau(t,\bar{x}_t)) \Big) \\ &- g'(\bar{x}(t-\tau(t,\bar{x}_t)))\psi(-\tau(t,\psi+\bar{x}_t)) \Big| \\ &+ |a(t)||g'(\bar{x}(t-\tau(t,\bar{x}_t)))|\psi(-\tau(t,\psi+\bar{x}_t)) - \psi(-\tau(t,\bar{x}_t))| \\ &\leq a_0 N_3(\psi(-\tau(t,\psi+\bar{x}_t)) + \bar{x}(t-\tau(t,\psi+\bar{x}_t)) - \bar{x}(t-\tau(t,\bar{x}_t)))^2 \\ &+ a_0 N_2 \|\dot{\psi}\| |\tau(t,\psi+\bar{x}_t) - \tau(t,\bar{x}_t)| \\ &\leq a_0 N_3(1+N_1N_4)^2 \|\psi\|^2 + a_0 N_1 N_2 \|\dot{\psi}\| \|\psi\|, \quad t \geq t_0, \ \psi \in \mathcal{B}_C(\varepsilon) \cap C^1. \end{aligned}$$

Now the following result is the consequence of Theorem 2.3.

**Theorem 2.5** Assume (A1), (A2'), (A3'), and let  $\bar{x} = \bar{x}(\cdot; t_0, \bar{\varphi}) : [t_0 - r, \infty) \to \mathbb{R}$  be a bounded solution of (2.6). Then if the trivial solution of

$$\dot{y}(t) = a(t)g'(\bar{x}(t - \tau(t, \bar{x}_t)))y(t - \tau(t, \bar{x}_t)), \qquad t \ge t_0$$

is uniformly exponentially stable on  $[t_0, \infty)$ , then  $\bar{x}$  is an exponentially stable solution of (2.6) on  $[t_0, \infty)$ , i.e., there exist constants  $\delta = \delta(t_0) > 0$ ,  $K_1 = K_1(t_0) \ge 1$  and  $\alpha_1 = \alpha_1(t_0) > 0$ such that

$$|x(t;t_0,\varphi) - \bar{x}(t;t_0,\bar{\varphi})| \le K_1 e^{-\alpha_1(t-t_0)} \|\varphi - \bar{\varphi}\|, \qquad t \ge t_0, \quad \|\varphi - \bar{\varphi}\| < \delta, \quad \varphi \in C.$$

## 3 Proof of Theorem 2.3

**Lemma 3.1** Assume (H1). For any initial function  $\varphi \in \mathcal{B}_C(e^{-M_1r}\delta_1)$  the solution  $x(t; t_0, \varphi)$  of the IVP (2.1)-(2.2) satisfies

$$|x(t;t_0,\varphi)| \le e^{M_1 r} \|\varphi\| < \delta_1, \qquad t_0 \le t \le t_0 + r.$$
(3.1)

**Proof** Since  $\|\varphi\| \leq e^{-M_1 r} \delta_1 < \delta_1$ , it follows  $|x(t_0; t_0, \varphi)| < \delta_1$ . Suppose there exists  $t_1 \in (t_0, t_0 + r)$  such that

$$|x(t;t_0,\varphi)| < e^{M_1 r} ||\varphi||, \quad t \in [t_0,t_1), \text{ and } |x(t_1;t_0,\varphi)| = e^{M_1 r} ||\varphi||.$$

Integrating (2.1) we get

$$\begin{aligned} |x(t;t_{0},\varphi)| &\leq |\varphi(0)| + \int_{t_{0}}^{t} |f(s,x_{s}(\cdot;t_{0},\varphi))| \, ds \\ &\leq \|\varphi\| + M_{1} \int_{t_{0}}^{t} \|x_{s}(\cdot;t_{0},\varphi)\| \, ds \\ &\leq \|\varphi\| + M_{1} \int_{t_{0}}^{t} \max_{t_{0}-r \leq u \leq s} |x(u;t_{0},\varphi)| \, ds, \qquad t_{0} \leq t \leq t_{1}. \end{aligned}$$
(3.2)

Define the function  $z(t) = \max_{t_0 - r \le u \le t} |x(u; t_0, \varphi)|$ . The monotonicity of the right-hand-side of (3.2) in t and  $z(0) \le ||\varphi||$  imply that the function z satisfies

$$z(t) \le \|\varphi\| + M_1 \int_{t_0}^t z(s) \, ds, \qquad t_0 \le t \le t_1.$$

Thus Gronwall's inequility yields

$$z(t) \le e^{M_1(t-t_0)} \|\varphi\|, \qquad t_0 \le t \le t_1,$$

and hence

$$|x(t_1; t_0, \varphi)| \le z(t_1) \le e^{M_1(t_1 - t_0)} \|\varphi\| < e^{M_1 r} \|\varphi\|.$$

This contradicts to the definition of  $t_1$ , therefore (3.1) holds.

Similarly to the proof of Lemma 3.1 one can prove the following estimate for the solutions of the linear equation (2.3).

**Lemma 3.2** Assume (H2) (i). For any initial function  $\varphi \in C$  the solution  $y(t; t_0, \varphi)$  of the *IVP* (2.3)-(2.2) satisfies

$$|y(t;t_0,\varphi)| \le e^{M_2 r} \|\varphi\|, \qquad t \ge t_0.$$

We define the fundamental solution of (2.3) as the  $n \times n$  matrix solution of the IVP

$$\frac{\partial}{\partial t}V(t,s) = L(t)V_t(\cdot,s), \qquad t \ge s \ge t_0, \tag{3.3}$$

$$V(t,s) = \begin{cases} I, & t = s, \\ 0 & t < s. \end{cases}$$
(3.4)

Here I and 0 denote the identity and the zero matrices, respectively.

If the trivial solution of (2.3) is uniformly exponentially stable on  $[t_0, \infty)$  with exponent  $\alpha_2$ , then it is known (see, e.g., [6]), that there exists  $K_3 = K_3(t_0) \ge 1$  such that

$$|V(t,s)| \le K_3 e^{-\alpha_2(t-s)}, \qquad t \ge s \ge t_0.$$
 (3.5)

Suppose  $\varphi \in C$  is such that the solution  $x(t; t_0, \varphi)$  of the IVP (2.1)-(2.2) exists on  $[t_0, T)$  for some  $T > t_0 + r$ . We can rewrite equation (2.1) as

$$\dot{x}(t;t_0,\varphi) = L(t)x_t(\cdot;t_0,\varphi) + f(t,x_t(\cdot;t_0,\varphi)) - L(t)x_t(\cdot;t_0,\varphi), \qquad t \ge t_0 + r,$$

therefore the variation-of-constants formula (see, e.g., [6]) yields

$$x(t;t_{0},\varphi) = y(t;t_{0}+r,x_{t_{0}+r}(\cdot;t_{0},\varphi)) + \int_{t_{0}+r}^{t} V(t,s) \Big( f(s,x_{s}(\cdot;t_{0},\varphi)) - L(s)x_{s}(\cdot;t_{0},\varphi) \Big) \, ds, \quad t_{0}+r \le t < T.$$
(3.6)

Let  $\delta_2 = e^{-M_1 r} \delta_1$ , and suppose  $\varphi \in \mathcal{B}_C(\delta_2)$ . Then Lemma 3.1 yields that  $|x(t; t_0, \varphi)| < \delta_1$  for  $t \in [t_0, t_0 + r]$ . Therefore  $|x(t; t_0, \varphi)| < \delta_1$  for  $t \in [t_0 - r, T)$  for some  $T > t_0 + r$ .

It follows from (2.5) and (3.1) for  $t \ge t_0 + r$ 

$$|y(t;t_0+r,x_{t_0+r}(\cdot;t_0,\varphi))| \le K_2 e^{-\alpha_2(t-t_0-r)} \|x_{t_0+r}(\cdot;t_0,\varphi)\| \le c_1 e^{-\alpha_2(t-t_0)} \|\varphi\|,$$
(3.7)

where  $c_1 = K_2 e^{\alpha_2 r} e^{M_1 r}$ . Note that  $c_1 \ge 1$ . Since  $x_s(\cdot; t_0, \varphi) \in C^1$  for  $s \ge t_0 + r$ , assumption (H2) (ii) yields

$$|f(s, x_{s}(\cdot; t_{0}, \varphi)) - L(s)x_{s}(\cdot; t_{0}, \varphi)| \leq ||x_{s}(\cdot; t_{0}, \varphi)||\omega_{1}(||x_{s}(\cdot; t_{0}, \varphi)||) + ||\dot{x}_{s}(\cdot; t_{0}, \varphi)||\omega_{2}(||x_{s}(\cdot; t_{0}, \varphi)||).$$

For  $s \in [t_0, T)$  and  $u \in [-r, 0]$  (H1) together with  $||x_{s+u}(\cdot; t_0, \varphi)|| < \delta_1$  implies

$$|\dot{x}(s+u;t_0,\varphi)| = |f(s+u,x_{s+u}(\cdot;t_0,\varphi))| \le M_1 ||x_{s+u}(\cdot;t_0,\varphi)|| \le M_1 \max_{s-2r \le u \le s} |x(u;t_0,\varphi)|,$$

hence

$$|f(s, x_s(\cdot; t_0, \varphi)) - L(s)x_s(\cdot; t_0, \varphi)| \le \max_{s - 2r \le u \le s} |x(u; t_0, \varphi)| \omega(||x_s(\cdot; t_0, \varphi)||),$$
(3.8)

where  $\omega(u) = \omega_1(u) + M_1\omega_2(u), u \in [0, \delta_1).$ 

It follows from (3.6) and the above estimates for  $t \in [t_0 + r, T)$ 

$$|x(t;t_{0},\varphi)| \leq c_{1}e^{-\alpha_{2}(t-t_{0})}\|\varphi\| + \int_{t_{0}+r}^{t} K_{3}e^{-\alpha_{2}(t-s)} \max_{s-2r \leq u \leq s} |x(u;t_{0},\varphi)|\omega(\|x_{s}(\cdot;t_{0},\varphi)\|) \, ds.$$
(3.9)

Let  $0 < \varepsilon_0 < \delta_1$  be such that  $K_3\omega(\varepsilon_0) < \alpha_2$ , and for any  $0 < \varepsilon < \varepsilon_0$  let  $\delta_3 = \delta_3(\varepsilon)$  be defined by

$$\delta_3 = \min\left\{\delta_2, \frac{\varepsilon(\alpha_2 - K_3\omega(\varepsilon))}{c_1\alpha_2}\right\}.$$
(3.10)

Fix any  $\varphi \in \mathcal{B}_C(\delta_3)$ , and consider the corresponding solution  $x(t;t_0,\varphi)$ . Since  $|x(t_0;t_0,\varphi)| < \delta_3 < \varepsilon < \delta_1$ , the constant  $T_1 = \sup\{s \ge t_0 : |x(u;t_0,\varphi)| < \varepsilon$  for  $u \in [t_0,s)\}$  is well-defined and  $T_1 > t_0$ . Suppose  $T_1$  is finite. Then  $|x(T_1;t_0,\varphi)| = \varepsilon$ , and (3.9) yields with  $t = T_1$ 

$$\varepsilon \leq c_1 e^{-\alpha_2 (T_1 - t_0)} \|\varphi\| + \int_{t_0 + r}^{T_1} K_3 e^{-\alpha_2 (T_1 - s)} \varepsilon \omega(\varepsilon) \, ds < c_1 \|\varphi\| + \frac{K_3 \varepsilon \omega(\varepsilon)}{\alpha_2} < c_1 \delta_3 + \frac{K_3 \varepsilon \omega(\varepsilon)}{\alpha_2} \leq \varepsilon,$$

which is a contradiction. Therefore  $T_1 = \infty$ , and consequently,  $T = \infty$ , as well.

Let  $0 < \alpha_1 < \alpha_2$  be fixed, and  $0 < \varepsilon_1 < \varepsilon_0$  be such that

$$\frac{K_3\omega(\varepsilon_1)}{\alpha_2 - \alpha_1}e^{2r\alpha_1} < \frac{1}{2},$$

and let  $\delta_4 = \delta_3(\varepsilon_1)$  be defined by (3.10). Fix any  $\varphi \in \mathcal{B}_C(\delta_4)$ . Then  $|x(t; t_0, \varphi)| < \varepsilon$  for  $t \ge t_0 - r$ , and multiplying (3.9) by  $e^{\alpha_1(t-t_0)}$  yields for  $t \ge t_0 + r$ 

$$\begin{aligned} e^{\alpha_{1}(t-t_{0})}|x(t;t_{0},\varphi)| &\leq c_{1}e^{-(\alpha_{2}-\alpha_{1})(t-t_{0})}\|\varphi\| \\ &+ e^{\alpha_{1}(t-t_{0})}\int_{t_{0}+r}^{t}K_{3}e^{-\alpha_{2}(t-s)}\max_{s-2r\leq u\leq s}|x(u;t_{0},\varphi)|\omega(\|x_{s}(\cdot;t_{0},\varphi)\|)\,ds. \end{aligned}$$

Introduce the function  $z(t) = e^{\alpha_1(t-t_0)} |x(t;t_0,\varphi)|$ . Then

$$\begin{aligned} z(t) &\leq c_{1} \|\varphi\| + K_{3}\omega(\varepsilon_{1})e^{-(\alpha_{2}-\alpha_{1})t-\alpha_{1}t_{0}} \int_{t_{0}+r}^{t} e^{\alpha_{2}s} \max_{s-2r \leq u \leq s} e^{-\alpha_{1}(u-t_{0})} z(u) \, ds \\ &\leq c_{1} \|\varphi\| + K_{3}\omega(\varepsilon_{1})e^{-(\alpha_{2}-\alpha_{1})t+2r\alpha_{1}} \int_{t_{0}+r}^{t} e^{(\alpha_{2}-\alpha_{1})s} \max_{s-2r \leq u \leq s} z(u) \, ds \\ &\leq c_{1} \|\varphi\| + K_{3}\omega(\varepsilon_{1})e^{-(\alpha_{2}-\alpha_{1})t+2r\alpha_{1}} \max_{t_{0}-r \leq u \leq t} z(u) \int_{t_{0}+r}^{t} e^{(\alpha_{2}-\alpha_{1})s} \, ds \\ &\leq c_{1} \|\varphi\| + \frac{K_{3}\omega(\varepsilon_{1})}{\alpha_{2}-\alpha_{1}}e^{2r\alpha_{1}} \max_{t_{0}-r \leq u \leq t} z(u) \\ &\leq c_{1} \|\varphi\| + \frac{1}{2} \max_{t_{0}-r \leq u \leq t} z(u), \quad t \geq t_{0}+r. \end{aligned}$$
(3.11)

For  $t \in [t_0 - r, t_0]$ 

$$z(t) = e^{\alpha_1(t-t_0)} |x(t;t_0,\varphi)| \le |\varphi(t-t_0)| \le \|\varphi\| \le c_1 \|\varphi\|,$$

and for  $t \in [t_0, t_0 + r]$ 

$$z(t) = e^{\alpha_1(t-t_0)} |x(t;t_0,\varphi)| \le e^{\alpha_1 r} e^{M_1 r} ||\varphi|| \le c_1 ||\varphi||,$$

therefore (3.11) implies

$$\max_{t_0 - r \le u \le t} z(u) \le c_1 \|\varphi\| + \frac{1}{2} \max_{t_0 - r \le u \le t} z(u), \qquad t \ge t_0,$$

and hence

$$z(t) \le \max_{t_0 - r \le u \le t} z(u) \le 2c_1 \|\varphi\|, \qquad t \ge t_0$$

Consequently,

$$|x(t;t_0,\varphi)| \le 2c_1 e^{-\alpha_1(t-t_0)} \|\varphi\|, \qquad t \ge t_0, \quad \varphi \in \mathcal{B}_C(\delta_4),$$

which completes the proof of Theorem 2.3.

#### References

- [1] K. L. Cooke and W. Huang, On the problem of linearization for state-dependent delay differential equations, Proc. Amer. Math. Soc., **124:5** (1996) 1417–1426.
- [2] R. D. Driver, Existence theory for a delay-differential system, Contributions to Differential Equations, 1 (1961) 317–336.
- [3] I. Győri and F. Hartung, On the exponential stability of a state-dependent delay equation. Acta Sci. Math. (Szeged) 66 (2000), 71–84.
- [4] I. Győri and F. Hartung, On equi-stability with respect to parameters in functional differential equations, Nonlinear Funct. Anal. Appl., 7:3 (2002) 329–351.
- [5] I. Győri and F. Hartung, Exponential Stability of a State-Dependent Delay System, Discrete and Continuous Dynamical Systems - Series A, 18:4 (2007) 773–791.
- [6] J. K. Hale and S. Verduyn Lunel, Introduction to Functional Differential Equations. Springer, New York 1993.
- [7] F. Hartung, Linearized stability in periodic functional differential equations with statedependent delays. J. Comput. Appl. Math. 174 (2005), 201–211.
- [8] F. Hartung, Linearized Stability for a Class of Neutral Functional Differential Equations with State-Dependent Delays, Nonlinear Analysis (2007), doi:10.1016/j.na.2007.07.004
- [9] F. Hartung and J. Turi, Stability in a class of functional differential equations with state-dependent delays, in Qualitative Problems for Differential Equations and Control Theory, ed. C. Corduneanu, Word Scientific, 1995, 15–31.
- [10] F. Hartung, J. Turi, Linearized stability in functional-differential equations with statedependent delays, Proceedings of the conference Dynamical Systems and Differential Equations, added volume of Discrete and Continuous Dynamical Systems, (2000) 416– 425.
- [11] F. Hartung, T. Krisztin, H.-O. Walther and J. Wu, Functional differential equations with state-dependent delays: theory and applications, in Handbook of Differential Equations: Ordinary Differential Equations, volume 3, edited by A. Cañada, P. Drábek and A. Fonda, Elsevier, North-Holand, 2006, 435–545.
- [12] M. Louihi, M.L. Hbid, Exponential stability for a class of state-dependent delay equations via the Crandall-Liggett approach, J. Math. Anal. Appl., **329:2** (2007), 1045–1063.
- [13] H.-O. Walther, The solution manifold and C<sup>1</sup>-smoothness of solution operators for differential equations with state dependent delay. J. Differential Equations 195 (2003), 46–65.